Modeling the Human Heart Beat

The period:

p = 2L = 1000 mS
So

L =500

Our function is:
fit) = —0.0000156(t — 20)* + 2.5
The graph of the function:
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Fourier Series:
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When we graph the first 5 terms of this expression, we get the following. It shows regular peaks every one

second:
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We take more terms to get a better graph. Here is the graph of the first 20 terms, and it's starting to look
more like the required R wave:
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And now the graph of the first 100 terms:
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Extended Model (adding the T wave)

Our function is:

|tr;l = .
T ~0.375 % 1075~ 28002+ 0.6 if 200 < t < 3G0

fit) = (t+1000)
The graph of the function:
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Fourier Series:
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Here is the graph:
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